ER28FEEHERET 26HIBREE O (AA—A%=Y%) GO A e T2 1)

5H AOEE m A # m AR m i A BRAROHHEEG [ H i O HRE| HEHBREAS B
& 52 (A/kmi) (M) (FM) (FH) (%) (%) (M)
1 13,111 & % 493K B % 476K B % 280 & % 569K B % 99.4 & | 121,204/ B % 1
2 12,685/ ® =R 456 |18 & 43748 i 216|3rL n 54.5|= ji3 99.3|% Il 93,2111 = i3 2
3 12,646 |78 I 431]31 n 415|FF an 206|= ji3 51.7% 3 98.9 H |l 91477 EH kv 3
4 11,273 = i3 426 | ¥ aa 4149 # 198|E kv 50.2//h & H 98.6// & FH| 90,267 & F 4
5 10,653 |5 il 425 # # 407|3L n 198 | ¥ an 50.2|3L n 98.4) #E | 90,101/ #= FH 5
6 10,563/v & # 404/ K #0 388|E & F 195 &R il 49.8 |5R il 98.3 R A B K| 85,154|3k il 6
7 10,528|E & = 401|578 i 388| & kv 191|% 3 49.8 & kv 98.3% & % ¥ 79,906H iL 7
8 9,258/ a 398|E & F 387i& i 187\ %2 5F 48.5 /> e 98.2/E % =F| 77,051 |FF an 8
9 9,258 | H kv 398 i 385/ K # 185 # 47.5 |HT H 98.0/% BE| 76,773 @ Wk 9
10 9,074 WA B XK 393 | & # 1 384 | H B # 1 178/ & 4708 & F 98.0 BT H| 73472/ ® ZE[ 10
11 8,795/ #f W 3903k il 380D TR 169 |FR 5 46.5 | FF an 97.8| 3k f| 71,990 Hr H 11
12 8,767 Ff aa 389|H8 5 377|H8 5 168D T ¥k 455\ E F 97.8/ | 70,998/ e 12
13 7,453|3L n 388 FE I 373 |5 il 163|H £ g 448 ® R 97.8|F8 ® | 70,561|% Bl 13
14 7,283F # 378|= & 371|= & 161 /1y e 43.6|H # 97.7|K & %f| 70,516/H #Fl 14
15 7,058|% B 375/H % 361|F i 160 | ET H 43.5/H £ g 97.71 = f&| 69,728|3L n 15
16 6,664 H % 370/% B 361H Eig 158\ £ + 43.5|H8 5 97.7|F8 | 64,128|® X #0 16
17 6,505 HR 5 368|F i} 360|% = & % 1587 ® R 434D T W 97.7/%& 4| 63581\ EF F| 17
18 6,404/ X #0 365|% = & % 355|% B 150198 L 43.2|18 L 97.6|3L N[ 63,559 WABEX| 18
19 5,969 HT H 3613 #f W 351 #f W 149 K #0 41T mAB K 97.6 | Ff F| 63,289 # 19
20 5,763 |1& & 355/ & H 344\ £ F 148|F i 40.2|F i 97.6|iF #| 61,692 M3 5 20
21 5,681 | # 352/78 W W 34478 ® H 43| R A B K 7.7/ # W 97.4H # 61,221/ # W 21
22 4,958 T W 348\ £ F 337y = OH 140 | E & # 1 36.8|F K #0 97.2)\ E F| 58,234)F # 22
23 4,715 B # 1 34738 AN 3B EAE K 137|%8 & 36.0/3 = % % 97.1/%® #f W 58,08518 £l 28
24 3,022 )\ E +F 342/ mA B XK 3328 iL 136|3® # W 35.7 | & # W 97.0k K #| 57,414|F | 24
25 1,316 & i} 337 |HT H 326 | HT H BlHEdH 31.4)5F 8 96.8 B A 1L 54,232/%H EF 5 F| 25
26 L108 &% & 5 B 333 /1y F 3241y F 126 )8 # 30.0 /48 £ 95.9/F tgl 50, 1I18/E @) 26
15 7,712 385 374 170 44.2 97.8 72,614 T
KX BB S AT
TR DIBEINFDKR
£E T s HRSKT HRIUTH HRIUTH HRIKT R T £E
26 4,819 223L 428 ML 419 3L 167 IRIA 39.0 PALNA 97.4 8fif] 75,724 8ir| 26
27 4,867 22{iL 394 9L 386 A 169 1247 42.8 1647 98.1 5{if| 76,576 8fr| 27
28 4,958 22{r 388 13{7 380 L1HZ 168 124 43.4 L7HE 98.4 5] 76,773 96| 28




ER28FEEHERET 26TIBERIELEE @ (AA—A%=Y%) GO A e T2 1)

ERH| HAERES Biu2hite [BEPOANEFEIETRICHTIAEERS ANEE BE1ALSBER | BE1AZAOD I
JIE iz (FF) (FF) (%) (%) (FFA) (FFA) (N) -
1 3N HEHEH 213 B B 10.4]FF t 21.7]FF t 43]FF t 5,856 kil 2131 4K
2 277 B = 173/ FF th 12.8| 7 & #1 W 21.8| % & 46| A B % 5,991 ¥ T 22 mABXKl 2
3 275/8] # I 137]%8 ES 128 B T 25.1|31 I 47|11 F 6,103//h & 3 211 |FF SIHE
4 2650 W 101]3z ) 13.1/ X #0 25.2 |5 # 19| il 6,128/ & % 2118 B 4
5 251 i 89/% EE 13.1]5 il 26.1|= fE 9N T F 6,141/ ;T 209 At | 5
6 248| & i 88/m8 E 13.3]31 ) 28.3|IN & # 49| F & A W 6,240 & & # WL 209\ E F| 6
7 24618 T 798 % 13.6|H3 B 29.4|/ F 50 = % B 6,242 ) T W 2097 ® ®| 7
8 238| K 78|39 #t 13.7EAB X 29.71% EE 50| & i 6,251 8 A B * 205 =58 8
9 235|= i3 71 E v 138 =D H 30.3|#8 B 50 X # 6,2613 #t 204 |E7 Hl 9
10 231\ £ ¥ e # 13.8|&F i 0.7 & + 50/ £ # 6,349 E 37 203 # w| 10
11 210/ A B % 70/ = i3 13.9%8 = 31.0)\ £ F 51|ET ] 6,451 |/ F 202/ = Bl 11
12 203|Ih & #H 63/ A L 14.2/)\ £ F 31.6|ET ] 51 B = 6,466/ K #0 201|m8 Bl 12
13 197 |2 & # 1 60| #E 14.5|= & 2.1|EABX 51|88 B 6,480/ = % % 20008 % F| 13
14 195/ = v ST A B % 14.6]F #t 322/ B = 52| # I 6,570 & i 198/ kX #| 14
15 1923 #t 54/ & H# 14.6] /1y E 32.4|H 5 538 5 6,603 & 3 196|% E| 15
16 191|r3 E 5358 i 14.7/8 5 32.7/9 #t 54| = i3 6,613 |3z I 1958 Bl 16
17 1888 5 49| R B AT L 4.7 #& W 32.8|E v 5431 i 6,636/ E = 19438 Il 17
18 173/ 8T ] 4811y F 148/ » * 33.6) W W 54|38 ;T 6,674/ # 1L 188]3L nl 18
19 171|358 # 414 F i 148 B = 33.8| KX # 57 ) 7 W 6,722 13 = 1861/ & H| 19
20 169|@ % 200 F F 149D % W 33.9|% 8 57|% EE 6,840 AT ] 184 3& #wl 20
21 16132 I 42| K 15.0/h & F# 35.1 & & # W 578 » F 6,886//\ E F 1805 @[l 2
22 157 ¥ t 41]78 T 15.5|ET ] 36.2/58 T 61[3F #t 6,99 @ & =F 173|E i 22
23 14511y E BB =EBHH 15.9:& i 38| =E B 61|48 S 7,029/ 8 5 17248 £ 23
24 124/%3 ES 36|E » F 15.9/% = 38.0/8] # L 61k & B 7,040/ = i3 1720 7 | 24
25 1200 B B 20 B = 16.4]%A T 44343 S 62]:& i 7,077 % B 171/ B, T 25
26 106/ % B 32 Br | 16.7/@ 37 48.8]3& 3 65| Vi 7.174|% 1 1653 | 26
T 204 74 14.3 32.1 53 6,532 195 bS]
M RIEL ST
ERTHOBEIMEDRR
FE HeE T ™ Ha ™ TRy TRYL T TR TR FE
26 259 637 92 5037 13.6 307 34.1 1947 57 1747 6,270 637 172 2507 26
27 264 AT 75 91 14.9 1547 34.0 1947 57 1847 6,153 37 170 2407 27
28 265 AT 60 1307 14.9 2037 33.6 18f7 57 1947 6,242 i 172 24067 28
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BH|MBARResry | BERXEE [ AMEERAERE | TEARERE | FERXEE FRAELE "
B IRz
ol (%) (%) (%) (%) (%)
1 1489/ % & % 80.8| K & % 3O B B -2.7%& E3 1.8[/\ £ F NE 1
2 1.253|5H # 83.2| ¥ th 4.7%8 ES 2.6/ X #I 25 A B X -8 S 2
3 1.192| % th 86.8| = i3 5.5|% EE —2.0|E v 25| =B - |FF T 3
4 1.135/31 I 88.5|3T I 5.8|FF th 148 » F 2.8|= i3 -1% EE 4
5 1.134|= i3 88.8//\ £ F 6.2|5F il ~1.3|@T M 3.0 8 i -3z I 5
6 1.115|% B 90.1|%a iT 6.3 » F -1.1/8 3 3.3 T W -B 5 F 6
7 1.033)/h & # 90.6/% EE 6.8 |ET ] -0.8|% B ¥ 3.6/ o F —h e 7
8 1.010|E 3 90.9|5F # 6.9 & # -0.7|2 & # 1L 3.6/ 3T - |18 B 8
9 1.009/5 #t 91.1/%8 ES 7.18 5 -0.6|)\ T F 3.1 B/ ;N -E v 9
10 1.008E % =+ 91.6|() %@ 7.1 X # 02|78 B = 4.0[3 #t -l K #| 10
11 0.982| T | 92.5|3& i 787 #t 0.0/% EE 4.6| 2 & # W -3 #11
12 0.977|88 E 92.7/IN & # 8.1]3L I 0.5|H3 B 4.6|= # W -lmABX 12
13 0.976]/)h E 92.7/E v 8.3 /K3 B 0.6/ F 4.8]/ E ks w13
14 0.970/A % 92.7 K # 8.4/ E 0.7 A B % 5.0 FF th -IREML|] 14
15 0.948)\ E F* 29 F » F 8.5E v 1.3|5R il 5.1|88 B L || 15
16 0.942/() & 93.7 T | 8.7/= i3 1.3 & W 5.5/ B B -\ E F| 16
17 0.898/F X = 93.8|F A B X% 9.3\ T F 1.5/ #t 5.6|ET H 5.3|%F B 17
18 0.880|F i 93.8|®] # I 9.3 ) W W 2.0]3z i 6.2|% EE 9.5/ # w| 18
19 0.876/7A T 93.9/8 5 9.6]/1n #* 2.2/ & i 6.5 i 17.3/8 gl 19
20 0.860/8 X #n 94.9/ 1y E 9.7|% i 2.6|FF t 6.7/8 5 18.0/h & H| 20
21 0.832|F A B * 95.2|#8 B 9.8 A B % 3.038 ;T 6.8|3% il 18.2|F ® m| 21
22 0.824| & & # LU 95.2 & & # 1L 10.538 i 3.0/ & H# 7958 ;T 18.6| = Bl 22
23 0.816/3 # 1L 95.8|F E R 10.8]3A ;T 3.8/= i3 8.4[3T i 23.558 I| 23
24 0.778]%4& ES 98.8|% = % B 127 & W 4.0/5& i 8.8/ & # 23.7|& #w 24
25 0.730|H = % % 100.1|% i 1417 ® =& 5.3 & W 9.0 X # 479 W | 25
26 0.681|:&5 3 103.531 &t 14.6\% = % 5% 78\H=BHE 9.61& & 3.7 =5 5 26
] 0.975 92.5 8.5 1.0 5.2 9.1 i
M RIEL ST
ERTHOBEIMEDRR
FE R ™ Ha ™ TRy TRYL T TR FE
26 0.909 1647 86.3 307 9.0 1447 1.8 1507 3.9 9fir 11.9 1867 26
27 0.924 1647 87.1 (i 8.4 1647 1.6 1647 3.8 i 19.7 2067 27
28 0.942 1647 91.6 1047 9.3 18f7 1.3 167 3.3 6{i7. 47.9 25(7] 28




